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A Ol &
Bu: WE 29
??: S8 HE X (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ANTE O &HH 29 22,500 5,550 16,950
201 £B-2d| 9,600 5,550 4,050
01 At 22l 8,100 880 7,220
OANYEOO TS U ?Hs 2 8,100
OAMBIHEOMA A3 32 HI HE
20,0002 * 308 600
OMOIZOHasD W 938 Ay
3,750,000& = 23| 7,500
03 &Ar2 I 1,500 4,670 A 3,170
O 0 0l & 8L X| O 1,500,000& * 13| 1,500
301 LA F 12,900 0 12,900
09 SAFAIHIE &2 12,900 0 12,900
OX9slo 2l 300,000& = 43 SY = 12,900
adlts 23 30,000 30,000 0
303 L& 3 30,000 30,000 0
01 243 30,000 30,000 0
O [P pain F=; 30,000,000& 30,000
oll Bl Hl 35,553,721 22,695,030 12,858,691
0l 5l B 35,553,721 22,695,030 12,858,691
ol g1yl 35,553,721 22,695,030 12,858,691
801 Gl HI bl 35,553,721 22,695,030 12,858,691
01 Broili bl bl 35,553,721 22,695,030 12,858,691
(©F=R:1 40 J= =] 35,553,721,000& 35,553,721
HEY2HZ (0l AL 47,940 47,144 796
Jl2Z3l 47,940 47,144 796
JlE2&l 47,940 47,144 796
201 L2l 19,020 17,752 1,268
01 At 2t 2l 19,020 17,752 1,268
oJlgge=gda=H(JI&ZHl)
500,000& = 159H 7,500
O=ZHI(J1E&HI)
8,000& = 15 * 8¢ » 123 11,520
202 O4dl 25,920 24,192 1,728
01 =S LHAYI 25,920 24,192 1,728
O=3UadatlI(IIEZ4l)
20,0003 » 15& » 8% « 128 * 90% 25,920
203 YR =&l 3,000 3,000 0
04 RENSELRZ=LH 3,000 3,000 0
©J| & H (152101 5t) 250,000& = 12& 3,000




S 0 & Dt
MR YRES(0)AD)
ol BEXE (chel & 9l)
o
S E B (3H) - MBAY - BES Ol &F o4 %@ﬁ HD=2
MMEES (0l &) 58,389,083 53,589,376 4,799,707
SRS ONES 30,208,670 32,878,127 N2,669,457
Xl ghry Abst 30,208,670 13,135,585 17,073,085
311 X 20| AHAH & 2,025,335 2,252,250 N226,915
01 Al -2« 2XREHNLISXL 20| XHAHE 1,374,000 1,775,000 A 401,000
O 12 AE-B5]2 CRETIDA
900,000,000& * 3.5% 31,500
©'12. 50| ZH0IZY E&AY
4,500,000,000& = 3.5% 157,500
O 14 NEZD-EEDNE HEZA
10,000,000,000& * 3% 300,000
QM4 NEZD~-SEDIXZ HEZA(XE)
10,000,000,000€¢ = 3% = 1/12€ 25,000
O'14.BEA-2M2 T2T DA
3,000,000,000& * 3% 90,000
O 14 BEA-SM TRETDA(XE)
3,000,000,000& = 3% = 1/12& 7,500
014 HER BAAANL SHAY
5,000,000,000& = 3% 150,000
O 14. B ZAAAAL SHAY(XE)
5,000,000,000& = 3% = 1/12€ 12,500
O'15.HBEH BAAAAL SHAY(XE)
4.000,000,000& * 3% 120,000
©'15. BEA-S A TRETDA(XE)
8,000,000,000& = 3% 240,000
0'15.2CHMLI T2 (L) A& DA
X&) 8,000,000,000& = 3% 240,000
05 JIEFXFR = 0] XH A&t 651,335 463,250 188,085
©'09. 5| =HE HAOIFA
300,000,000 = 2.5% 7,500
O'11. Q=S AS =N B
1,000,000,000& * 2.5% 25,000
O'MM.2ETA22AHE 500,000,000& = 2.5% 12,500
©'12.2018 HA L =2X3B A=
500,000,000& * 2.5% 12,500
O 5. HEHCUSSAACK XA (XHE)
3,733,334,000& * 2% 74,667
©'15. HAX - A2 TRILDAH(XHE)
4,666,667,000& * 2% 93,334
O'15. 2 &3S A(HFTIoI242) SFEHZAHXE
) 4,666,667,000& * 2% 93,334
O'"18. 2NMEXXNRA~-HABNIE T2 (X&)
8,000,000,000& * 1.75% 140,000
©'18. 8 2~Jtd =24 (Xtg)
2,000,000,000& * 1.75% 35,000
O'19. M2z 82 (HEED-sEDME) HaD
AH(XFEH) 10,000,000,0002 * 1.75% * 2/4= D] 87,500
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O'"19.HFH Z2AL2AANE SEMY(XE)
5,000,000,000& * 1.75% * 2/4& DI 43,750
O'"19.HFA-IM2 T 2ETY JA(KE)
3,000,000,000& * 1.75% * 2/42 2| 26,250
601 XL S =4 28,183,335 10,883,335 17,300,000
01 Al-Z - AN sHL==a 21,100,000 3,100,000 18,000,000
O'14. M2z 2 (MEFR~-SEBUIXNZ) HES
AH(XEEH) 10,000,000, 000& 10,000,000
O'"14.HFH FAL2AALE SHEAMY(XE)
5,000,000, 000& 5,000,000
O'14.BEH-S M TREAT BAHRE)
3,000,000, 000& 3,000,000
O'12.4F~&35|12t T2 I HZA
1,000,000,000& * 1/ 100,000
O©'12.sHEHNSE Z&MY
5,000,000,000& = 1/10 500,000
O'15. 35 ZIAL2AANE SHAY (XHE)
5,000,000,000& = 1/10 500,000
O'"15. HFA~SA2 T 2T ZAH(XE)
10,000,000,000& * 1/10 1,000,000
O'B.ZEUMRIEZ(SL~25) AL B A
Xtgh) 10,000,000,000& * 1/ 1,000,000
05 JIEt=UHAIY == 4aE 7,083,335 7,083,335 0
©'09.sFJI=dH FA0IHEAF
1,500,000,000& * 1/10 150,000
O'NM.LEIEMI=ANAHE
2,000,000,000& = 1/10 200,000
O'11.2&8&c 2248 1,000,000,000& * 1/10 100,000
O©'12.501H A & SX32 A=
1,000,000,000& * 1/10 100,000
O'5. HFHUISMASI LA (XHEH)
5,600,000,000& * 1/3 1,866,667
O'"15. HAX-AE2t T2 SAH(XE)
7,000,000,000& * 1/3 2,333,334
©'15. 236 (HFII242) SEIAH(RE
) 7,000,000,000& * 1/3 2,333,334
WEHHX S 28,180,413 20,711,249 7,469, 164
ANeEZeSH2 XA 28,180,413 20,711,249 7,469, 164
309 MEZ 27,038,227 19,217,034 7,821,193
01 SAt- SHINTES 27,038,227 19,217,034 7,821,193
OA&2e3E 29l 27,038,227,000& 27,038,227
404 SASHIHEEES 1,142,186 1,494,215 A 352,029
01 SAt - SEHUSEES 1,142,186 1,494,215 A 352,029
OAlg2elss A=d 3 1,142,186,000& 1,142,186
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SS2ZZAY 3,504,000 3,202,160 301,840
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OSS22AMY 212 (1,000 )
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139,704

348,710

550

04 DIt 22 XS+

OXNSESSHL Xl AL

£ (86Y)

349,260,000&

Xl

H

Al

349,260

349,260
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R LRREIPY,

o
Sl orE ol o

oLy 2 xel E = (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 96
Al 384
OXNEZ2ESHLXCIAY =X 2 3,540
OXNABSHLATIZIAY SeHE ol
5,000& = 5001 * 23] 500
N 250
o= 50
Al 200
ONATSHUKAAY ABN o 45
500€ * 2,0000H 1,000
Xl 500
o= 100
Al 400
ONABSHLATI2IAY B2 &40 HE
70,000& = 1504 1,050
Xl 525
o= 105
Al 420
OXNYZ2SHLAUSAIY E2 i H &
33,000& = 30H 990
Xl 495
o= 99
Al 396
OgRFA £=2H| 3,040
O FNE=IN 21,0008 * 408+A 840
N 420
< 84
Al 336
OoxZzlig 8l 220,000& = 100K 2,200
N 1,100
== 220
Al 880
202 04d| 3,600 5,000 A 1,400
Xl 1,800
= 360
Al 1,440
01 2L Y| 3,600 5,000 A 1,400
ONABEHMLX2IAL =7 Oftl
20,000 x 5 x 36Y 3,600
Xl 1,800
& 360
Al 1,440
206 M = Hl 50,000 65,000 A 15,000
Xl 25,000
= 5,000
Al 20,000
01 X2 H| 50,000 65,000 A 15,000
OXNGZSHLACAY SE(HY 2 785)7¢
50,000, 000& 50,000
N 25,000
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HE: 0N MBONES 98 UKol HE
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< 5,000
Al 20,000
2hCISEXNIEH 23 411,800 1,286,354 A 874,554
201 £B-2d| 8,800 8,800 0
02 =224l 8,800 8,800 0
OHFA Z2UT2l e-SHFBANAY X2
&= 110,000,000& * 8% 8,800
307 21201 A 395,000 1,257,600 A 862,600
05 BIZHRI & 3 395,000 1,257,600 A 862,600
OHFANYNAZSNAME 2
320,000,000& * 10H A 320,000
OHFMBUTE HA 29
50,000,000& = 13l 50,000
OQMME QUIAHION(LAIRS F722 oty
o g @A) 250,000& = 402l 10,000
0% MERE =7 Z3 N
15,000, 000& 15,000
401 AIEHIZ 28I 8,000 19,954 A 11,954
01 A& Hl 8,000 19,954 A 11,954
OZXeZSEXNAEEH HIE+=3A
8,000,000 8,000
LRI SEXNZFLMEHOE #FAHI =AH X 97,146 0 97,146
< 48,573
Al 48,573
307 21201 A 97,146 0 97,146
< 48,573
Al 48,573
05 RIZt2IEt = 97,146 0 97,146
OgXelE&NALdEH 0l ME FEX =4I
4,370 * 22,2309 97,146
< 48,573
Al 48,573
ANAAHSESE LdRel&dE XN AY 1,339,777 1,000,000 339,777
= 1,213,000
Al 126,777
307 21201 A 1,339,777 1,000,000 339,777
= 1,213,000
Al 126,777
02 HIAFAAFEX 1,339,777 1,000,000 339,777
OXNHLHSEE LAel&EE XA
1,339,777,000& 1,339,777
= 1,213,000
Al 126,777
s8I &8 4,150 4,150 0
201 L2l 4,150 4,150 0
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01 At 22l 4,150 4,150 0
ONEBHEINY USERI MZH
400,000& = 1094 4,000
ONEBHEINY AUSAMH HMA 15,0002 = 1004 150
FEHY XA 195,770 205,000 A9,230
201 L2l 770 0 770
01 AtS 22l b 770 0 770
OFHE 5% LK ELSE 77,0002 * 1042 770
307 21201 A 120,000 130,000 210,000
02 It S AIHE L 110,000 120,000 A 10,000
odttgolaerd X3 A 40,000,000& 40,000
ONMZHE W et XteldH X (HS)
200,000,000& * 15% 30,000
O&FYE 3 20 XNEAALY 40,000,000& 40,000
04 QIZFSHALAIR B = 10,000 10,000 0
OAZZZH EotolCIo BEUE
10,000,000& * 13 10,000
308 XX EHHSOIA 75,000 75,000 0
MOIIERES3 75,000 75,000 0
OS=SUe W HetLXelde XNA(UHS)
500,000,000& * 15% 75,000
MBI BHES XA 350,000 350,000 0
2 315,000
Al 35,000
307 21201 A 350,000 350,000 0
= 315,000
Al 35,000
02 QB AAHEX 350,000 350,000 0
OMSISSES X2 AL (300F)
350,000, 000& 350,000
= 315,000
Al 35,000
AR ARl ALY 937,040 604,756 332,284
< 463,581
Al 473,459
101 @124 dl 22,180 20,220 1,960
< 11,090
Al 11,090
4 JI2ZtHZ22HEE =+ 22,180 20,220 1,960
OMAMXUTICIAIY 21F2 Y
2,218,000& * 1€ » 103 22,180
< 11,090
Al 11,090
201 L2l 102,581 65,274 37,307
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HE - B (3H) - KISAY - BYS 0l &t o il HImEET
< 51,291
Al 51,290
01 At 22l 102,581 65,274 37,307
OMMAFATIZIAY £F S
8,000& = 5 « 125¢ 5,000
< 2,500
Al 2,500
oOsEgxeE Iz 2,000,000& = 10& 20,000
< 10,000
Al 10,000
OYRFA =8 77,581
O=AsX 21,000& » 3008 A 6,300
< 3,150
Al 3,150
Oox=Zgd Ed 220,000& = 1104 24,200
< 12,100
Al 12,100
OMMFATICIMNY AE M2 38
500& = 8,0000H 4,000
= 2,000
Al 2,000
OMAMATIZIAYE EER Y & S22 X
& (48) 43,081,000& 43,081
< 21,541
Al 21,540
202 o4dl 12,000 12,000 0
< 6,000
Al 6,000
01 = LH o4 1l 12,000 12,000 0
O M A F U X2 A (Gh]
20,000& = 3% = 200 12,000
< 6,000
Al 6,000
301 et d s 790,400 501,000 289,400
< 395,200
Al 395,200
12 JEE2d= 790,400 501,000 289,400
OMMUN Atz HOIT AHIEAT
20,000& = 39,520 790,400
< 395,200
Al 395,200
308 XX EHHSOIA 9,879 6,262 3,617
07 IXNHHARSE = 9,879 6,262 3,617
od=2E = 9,879,000& = 13l 9,879
MAR A 215 XA E 100,000 87,280 12,720
< 50,000
Al 50,000




2AM: LXel XA ot
I oy Mot E e Xl #E
el OOl ANl BE (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 84,440 76,060 8,380
< 42,220
Al 42,220
04 JIZHHZ22XREES 84,440 76,060 8,380
OMMRUE SN AL 29 AH(XE 2%
, 5oig) 29,760,000& 29,760
< 14,880
Al 14,880
OMARUE SN AL 29 Q1A (L8 4
, 5oig) 54,680,000 54,680
< 27,340
Al 27,340
201 L2l 15,560 11,220 4,340
< 7,780
Al 7,780
01 At 22l 15,560 11,220 4,340
OYRFA =24 15,560
O=AMEX 21,0003 » 502 A 1,050
< 525
Al 525
OoZgHy EH 220,000 * 2004 4,400
< 2,200
Al 2,200
OMBEUEAM 2 38 500& = 5,0000H 2,500
S 1,250
Al 1,250
OAd E8 &49(5001) € E22(13)A
& 5,210,000 5,210
< 2,605
Al 2,605
OLl=H & ¢d8E8F 200,000& = 129 2,400
< 1,200
Al 1,200
auxtel &E 13,350 6,900 6,450
201 L2l 8,850 4,400 4,450
01 A2 22| 6.850 2,400 4,450
OZXelSAMEII 20N HE & S
30,000& * 1008 3,000
O2N2EE OHOICIN 2 82 X HMH
150& = 7,000% 1,050
OZXel&E OLOICINH 22 88 Y
70,000 * 4004 2,800
03 &Ar2 I 2,000 2,000 0
ogXxiel 2712 g5 |35 Mz
2,000,000& =+ 13l 2,000
203 YR =& 2,000 0 2,000
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03 AIZH =X 2= X H| 2,000 0 2,000
axie &2E g2FX 2,000,000 2,000
301 et A= 2,500 2,500 0
12 JIEtE A= 2,500 2,500 0
OLXel&EHE OI0ICINH 22 AAMZ2 2,500
Ox2%4 500,000 = 2 1,000
O 300,000& = 3Y 900
(OF g 100,000 ~ 69 600
Q+AE HEAL X2 AFY 431,460 0 431,460
= 153,000
& 83,538
Al 194,922
307 2izto| A 431,460 0 431,460
= 153,000
& 83,538
Al 194,922
05 QIZ2tRE 2 431,460 0 431,460
ogL+as AL AFY 431,460,000& 431,460
= 153,000
o 83,538
Al 194,922
NEHEXNIE FEL el A 1,461,600 0 1,461,600
= 696,000
= 229,680
Al 535,920
307 QI2t0| ™ 1,461,600 0 1,461,600
= 696,000
=} 229,680
Al 535,920
05 QIZ2tE 2 1,461,600 0 1,461,600
OXEA=AIY HALX2|l 1,461,600,000& 1,461,600
= 696,000
= 229,680
Al 535,920
stol= XA LdXel H2H SHes 30,000 0 30,000
201 Bt 30,000 0 30,000
03 A2 G| 30,000 0 30,000
Oistol= XNLHLE Xl ¥ ghetg &I
30,000,000 30,000
QESMHENSHCHR] MHI X H 160,000 0 160,000
= 79,000
Al 81,000
307 212t0| & 160,000 0 160,000
= 79,000
Al 81,000
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02 It M AHE L 160,000 0 160,000
OsMPutstthX MHI X ALY
160,000, 000& 160,000
= 79,000
Al 81,000
A srgolzaged X2 Are (015 2R 80,000 0 80,000
= 37,099
Al 42,901
307 glz2tol & 80,000 0 80,000
= 37,099
Al 42,901
02 IZtE M AHE X 80,000 0 80,000
OXY ardorades XI& AL (OIF )
80,000,000& 80,000
= 37,099
Al 42,901
228 O HeHY XA 110,000 0 110,000
= 53,165
Al 56,835
308 AHAIEHHSOIA 110,000 0 110,000
= 53,165
Al 56,835
1MIJIEHRES 110,000 0 110,000
O==2% o oHAFY XA
110,000, 000& 110,000
= 53,165
Al 56,835
Mol H LI EE 2,144,800 2,073,371 71,429
= 371,000
Xl 1,181,000
< 155,400
Al 437,400
AMEEDY 2835 XI&A 10,800 10,800 0
201 Let24d] 9,800 9,800 0
01 At 22/l 9,800 9,800 0
OMEIEIIY HE &2 XI& 3,800
OAal =D ME 82 M+ M
3,000& » 600 1,800
OAal®EDIIY 222 M=
2,000& = 1,0000H 2,000
OAZ DY @Zetel HEXE
200,000& » 308 A 6,000
307 izl & 1,000 1,000 0
02 IZtE M AHE X 1,000 1,000 0
OA2I DY 43t WERD 2t=3l
1,000,000& * 13| 1,000




OlN MEOINES 9B UXtel BE
NEERSPEEE (29l & 2)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
(Ol AIEI DI SHAY 1,254,000 1,034,000 220,000
Xl 940,000
< 79,000
Al 235,000
307 gl2tol & ,254,000 1,034,000 220,000
Xl 940,000
< 79,000
Al 235,000
02 (It HAMHEE ,254,000 1,034,000 220,000
O(0MbNAIEI =Dl SHALY  1,254,000,000& ,254,000
Xl 940,000
< 79,000
Al 235,000
(ClH)AISI RDI Y M2 AL 120,000 150,000 A 30,000
Xl 90,000
< 7,500
Al 22,500
307 glz2+0l & 120,000 150,000 A 30,000
X 90,000
< 7,500
Al 22,500
02 YAFHAANGFEX 120,000 150,000 230,000
O(0bNAIE HIlY M2l X & A
120,000, 000& 120,000
Xl 90,000
< 7,500
Al 22,500
AMIEIY AZIEEZ K& 180,000 410,000 A 230,000
Xl 126,000
< 16,200
Al 37,800
307 glz2tol & 180,000 410,000 A 230,000
Xl 126,000
< 16,200
Al 37,800
02 QB AANGFEX 180,000 410,000 A230,000
OAg| &I AMtalE2&E XI& 180,000,000 180,000
Xl 126,000
< 16,200
Al 37,800
MBI EI| S AFSOHEHl K& AL 530,000 428,571 101,429
= 371,000
< 47,700
Al 111,300
307 21201 A 530,000 428,571 101,429
= 371,000
< 47,700
Al 111,300
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02 QIZtE M AHEE 530,000 428,571 101,429
OAMSIHIIY ALHOHEH X3 AS
530,000, 000& 530,000
2 371,000
< 47,700
Al 111,300
OS2I SdAY 50,000 40,000 10,000
Xl 25,000
< 5,000
Al 20,000
307 glz2+ol & 50,000 40,000 10,000
X 25,000
< 5,000
Al 20,000
02 It M AMHEE 50,000 40,000 10,000
Oty SEAY 50,000, 000& 50,000
Xl 25,000
< 5,000
Al 20,000
HAE2AZH (LRl X&) 52,206 0 52,206
JlE3l 52,206 0 52,206
JlE2&l 52,206 0 52,206
201 Lt 15,216 0 15,216
01 At 22l 15,216 0 15,216
o=sgd (OIE&dl)
8,000& = 12 * 8g » 123 9,216
OJl=gedastl (JIE2)
500,000& =« 129 6,000
202 o4dl 23,040 0 23,040
01 = LH 4 1l 23,040 0 23,040
OJlEgl 20,000% = 1298 » 82 ~ 12& 23,040
203 YR =2t 3,000 0 3,000
04 EA2IYRFLH| 3,000 0 3,000
OJI & (15210138t) 250,000& = 12& 3,000
405 XHobF S HI 10,950 0 10,950
01 At ESFH S 10,950 0 10,950
O&E K= AL 5,500,000& =« 1CH 5,500
OLE= 1,500,000& = 1CH 1,500
O 11(8004 0I4}H) 1,200,000 * 1CH 1,200
OZMAIEDI 1,000,000& = 1CH 1,000
Ox=2I 500,000& =« 1CH 500
©0I= Myl 550,000& * 1CH 550
OE Xt 100,000 * 1K 100
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OHZED 70,0002 * 5CH 350
CES-P] 50,0002 * 5CH 250

=

i
2m




> A
A & 0l & AF 2 E A A
20198 &= =0la LBt/ IMEHLY ~ FESA
fAM: EXNFXID
HH: EXNEA U L JLNA 23
Sl MSEE S Y SR (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ST= X 14,558,608 10,295,024 4,263,584
= 44,000
Al 14,514,608
SAsX = L INGXNH 2t 1,100,320 1,011,800 88,520
= 44,000
Al 1,056,320
MEE 58 218 SR 37,320 41,160 A 3,840
SR 2 37,320 41,160 A 3,840
201 Let24d] 32,320 35,160 A 2,840
01 At 22l 25,160 25,160 0
OFXNsX 882 M HMAEA(20,20,520
) 4,000& * 5,000% 20,000
OFENRIXNZ2 3z ME
300,000& * 43 1,200
OJIGAMEZIAMEIA 018 =2
330,000& * 13l& = 128 3,960
02 2324l 2,160 0 2,160
OFXRX 2 ML €& RERS
5403 * 4,000% 2,160
03 & Ar2 Gl 5,000 10,000 A5,000
O&HFAl CEOZE 2 E 3 5,000,000& = 13l 5,000
203 YR =&l 5,000 6,000 A 1,000
03 AIHZ=XH R =ZH| 5,000 6,000 A1,000
OFAsX =2 5,000,000& 5,000
FgolZet 2= o 245 N2 1,063,000 970,640 92,360
= 44,000
Al 1,019,000
HEAXA 970,000 970,640 A 640
307 glz2tol & 170,000 150,000 20,000
02 It M AHE X 170,000 150,000 20,000
OFEHYE J=&AddH NAAL(UHS)
20,000,000& 20,000
O1el 2XRJ/Y XNJAHMH XM (HE)
20,000,000& 20,000
OFIHEUE 4 XNA(WS) 50,000,000 50,000
OXILESHH S43MET X
30,000,000 * 200 AL 60,000
OO0l AHOIA 28 XNA(US)
10,000,000 = 200 & 20,000
308 XXIEHHSOIA 800,000 20,000 780,000
10 I 2 SOCHetE & & 2 E A I 800,000 20,000 780,000
OFIXNA =208 24 XN&
800,000,000& = 1JH A 800,000




fAM: EXNFXID

Hu: eXgx 20 L JIYNA 2
ool Zeolme A= Y A5 K&

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FUECEH xFHIY ZZ2HE ALY 93,000 0 93,000
= 44,000
Al 49,000
307 gl2tol & 93,000 0 93,000
= 44,000
Al 49,000
02 It HAHE L 93,000 0 93,000
OHEOIE x HU|Y TRME A
93,000,000 93,000
= 44,000
Al 49,000
Ol & MAH sS4 13,392,700 6,203,000 7,189,700
ANadetitey |4 13,392,700 6,203,000 7,189,700
AN Mekad (A S REN, HoIYY) 4 2,000 3,000 A 1,000
203 YR =2t 2,000 2,000 0
03 Al =AY R =& 2,000 2,000 0
OXNAHF LY HRFA 2,000,000 2,000
CEFHUYZMAIUSTHE X2 3,250,000 3,250,000 0
306 93 3,250,000 3,250,000 0
01 &3 3,250,000 3,250,000 0
OLEFHAZIMAYIUENHT 2dH X
2,000,000, 000& 2,000,000
OEHUAZMATSTHE HAFIH2H XA
1,250,000, 000& 1,250,000
S MetggaEs AR X 1,000,000 1,000,000 0
306 93 1,000,000 1,000,000 0
01 &= 1,000,000 1,000,000 0
OE=MBEEE AL
1,000,000, 000& 1,000,000
25 CEOXEY 29 2,400 0 2,400
201 et 2,400 0 2,400
03 &AL2 I 2,400 0 2,400
O2sE Ceoxd 29 2,400,000 2,400
SEHOI2AM Y ATHHEH AHE 200,000 500,000 A.300,000
306 =93 200,000 500,000 A300,000
01 &= 200,000 500,000 A.300,000
O8&UHI0I2A2tY ATHAE A XA (44 XH)
200,000, 000& 200,000
Hol2AetY e ¥ [FS4 HIOHXH 362,000 400,000 238,000
306 =93 362,000 400,000 238,000
01 &3 362,000 400,000 238,000




fAM: EXNFXID
M Hiole &g HAHE 54

el XeEAY B4 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHol2AM ety et d 2 |FEd HIOIXNFE DI
B = (349 X) 362,000,000 362,000
SEUOIAAUYHIACHOIH 5 2,726,300 0 2,726,300
306 ¢ 2 225,000 0 225,000
01 &3 225,000 0 225,000
OSEUIOIHALHICHOH 2F(UHS)
225,000,000 225,000
401 AIEHI L 201 2,501,300 0 2,501,300
01 A& Hl 2,501,300 0 2,501,300
OSEBIOI2MUHIAHOIEH 2F(2X 0
) 2,500,000, 000& 2,500,000
OSJI0lE==2 1,300,000& * 12X 1,300
HIOIQo| A MAMEH 2HHMAAST MAANL HE 1,250,000 0 1,250,000
402 RI2FX=201 M 1,250,000 0 1,250,000
01 QI T2ALLE (XA ) 1,250,000 0 1,250,000
OHIOIo M AHIEH 2AMAAZT MAAL A
gus) 1,250,000, 000& 1,250,000
ey ssd2Hey X3 200,000 200,000 0
308 A EHHSOIA 200,000 200,000 0
1037/ 2S0HUHeSB A ALS I 200,000 200,000 0
OBtAHSE s dly & ARMLI(
tHS-34xt) 200,000,000 200,000
SESEFTHAZ AEY 4,400,000 0 4,400,000
403 Ut S E X201 & 4,400,000 0 4,400,000
02 SO 2SO HSHAHE X 2 &AL H 4,400,000 0 4,400,000
OZS=S ML S AL FIE A HI 4,400,000,000& 4,400,000
EhmA #FxH 11,648 1,800 9,848
st SEEE N 11,648 1,800 9,848
H3BAIEE B H 11,648 0 11,648
201 Let24d| 11,648 0 11,648
01 At 22/l 11,648 0 11,648
OM3BAEES LHMEA HEHEH = (48],
5Bl ) 364,000& * 2% * 8¢ « 23l 11,648
HER2IAZH (SNSRI ) 53,940 78,424 A24,484
Jl23l 53,940 44,444 9,496
JlE2&l 53,940 44,444 9,496
201 L2l 19,020 16,484 2,536
01 At 22l 19,020 16,484 2,536
OJl2g R ZH| 500,000& = 159H 7,500




fAM: EXNFXID

MM HNSAAY(ENSX D)

¢l =gl CEE-ED
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-/

8,000& = 15& » 8¢ = 12& 11,520
202 Oddl 28,800 24,960 3,840
01 =LHOI LI 28,800 24,960 3,840
©J=Ztl 20,000% = 159 » 82 = 12& 28,800
203 ¥R =&l 3,000 3,000 0
04 FAN2EERFAH| 3,000 3,000 0
OJIFEH (1521 0Iat) 250,000& » 12& 3,000
405 TtatFH S 3,120 0 3,120
01 AL ESFH SH 3,120 0 3,120
OMRE o XH(Z2IXt) 500,000& * 1K 500
OUE H&1(500¢ 0l4) 1,000,000  1CH 1,000
OAE HEHD(1004 OlatH) 300,000& = 1CH 300
o2& 400,000& » 1CH 400
OFEN=IX &8 A 320,000& * 10K 320
o3& 2AX 150,000& * 44 600




>
A & 0l & AF 2 E A A
20198 &= =0la LBt/ IMEHLY ~ FESA
AN ISR 0
M J|gotl| £E2 &8 =4
Sl LHAYE I (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Il Xl 11,502,907 10,586,531 916,376
= 40,000
Al 11,462,907
Jlgaotll 2 88 x4 3,741,381 1,319,163 2,422,218
WHaA= I 397,620 282,548 115,072
=201 NA 286,020 160,948 125,072
201 Let24E] 37,620 10,500 27,120
01 At 22l 37,320 10,500 26,820
ORYSAIIY AASEHE MA
300,000& * 1504 4,500
O®=J12 Z&EH 100,000& * 1574 1,500
QJ1g382 X3 AMHIA 08
1,320,000& » 14 1,320
O=sA0lg M3 dAls ot N&
1,000,000 * 307H At 30,000
02 =24l 300 0 300
CEES e -SRI
300,000& = 13l 300
203 YR =&l 3,000 3,000 0
03 AIMZ=AH R =AH| 3,000 3,000 0
OJIgXA gR=2 3,000,000 3,000
301 et 8= 400 448 A48
09 HALAHIE& S 400 448 A48
OEAJIY/H A2 s HFAX SAH|
8,000& = 259 « 23] 400
307 glz2+ol & 75,000 87,000 A 12,000
02 It M AHEE 75,000 87,000 A 12,000
OFBFAIIHAE S| o2l
1,000,000& * 409 40,000
OJ1g = YFHEMHA XA
35,000,000& 35,000
308 XX EHSOIA 170,000 60,000 110,000
10 3J/2S0HUHeZ&EEALS I 170,000 60,000 110,000
O=2JY )l AFFE M3
1,000,000 * 107H At 10,000
OFZEAl %2112 Q1AM AL
160,000, 000& 160,000
A D10 S otE MsSUHs 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OFFAl D1l 80ts MEUa
20,000,000& = 13l 20,000




oY

M. o (BH) - HSAY - BAS il HDS2
BN 10,000 10,000 0
| 10,000 10,000 0
AFALES 2 & 10,000 10,000 0
FOID BMEE QELE JjAQl HES

10,000, 000& 13 10,000
18,000 18,000 0
bS] 18,000 18,000 0
JUNE-EES 18,000 18,000 0
Al D1 WOlEY S
18,000, 000& 18,000
A=A MIO] Lt 6,000 6,000 0
S| 6,000 6,000 0
RS 6,000 6,000 0
=& MO 3,000,000 6,000
30,000 40,000 A 10,000
™ 30,000 40,000 A 10,000
APAFE 2 X 30,000 40,000 A 10,000
olo| & 30,000, 000& 30,000
F3ASE 17,600 17,600 0
| 17,600 17,600 0
APALS 2 & 17,600 17,600 0
AJIEOIEOS Mg L TS 17,600
A A 8,000,000& * 13 8,000
AL (407) 2,400,000& * 43| 9,600
Es| ALCE PSS 10,000 10,000 0
| 10,000 10,000 0
APAFES 2 & 10,000 10,000 0
F0l 8MoteE EFASEAS I
= Ml 10,000, 000& 10,000
AuH 54 3,343,761 1,036,615 2,307,146
X & 943,761 1,036,615 N92,854
29| 1,741 4,435 N2,694
2l bl 1,741 4,435 AN 2,694
HXE=E2(5AH) 1,741,000& 1,741
&H| 1,000 1,000 0
&R =&Y 1,000 1,000 0
=4 g2 F4 1,000,000& 1,000
sa3 1,020 1,180 A 160




2 JIEXE D
MM DY) ES &8H X4
Sel: AW Us NALY T4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
09 HAIAHI EAZ 1,020 1,180 A 160
O&tsr2 3 o A 2AH|
8,000& * 10¥ x 43| 320
OMSZBHT sets] Y HAX A&
50,000& * 14Y = 13| 700
306 22 400,000 400,000 0
01 s 2 400,000 400,000 0
OE=EHIALIA 29X 400,000,000 400,000
307 gizto| A 200,000 200,000 0
02 Q2B AMAIE E =X 200,000 200,000 0
OFAINY UG AIY 200,000
OABZ2AY 2H&E
5,000,000& = 2004 At 100,000
Oo=2Uueos 248 10,000,000 = 10JH AF 100,000
308 XHXIGH SO0l & 290,000 380,000 A 90,000
10 2| 2SHUSHEAXERAEASH] 290,000 380,000 A 90,000
OE®H2|)Y SHAAME(UHE) 60,000
OFJAMEAMNS 0|2E HIOIR2ESE EIMHE
AL (BRIE =) 60,000,000 60,000
OAZQES XA (THE) 30,000,000 30,000
OO0z HAPUH HetZ22 ALY
25,000,000 = 224 50,000
O XA AHE = ALY 150,000
OXNATHAEESAISE (HE) 130,000,000 130,000
ORXATHAE S ALY (KHA) 20,000,000 20,000
403 XX SHHS K20 & 50,000 50,000 0
02 2I2SOUSA2EAEAIS Y 50,000 50,000 0
ONESTHINSA AsSAEE =K (HE)
50,000,000 50,000
BICHSEES A&Ils ANIHLEH 2EAY 2,400,000 0 2,400,000
403 XX SHHS K20 & 2,400,000 0 2,400,000
02 BI2SOH USRS EAEAIEHI 2,400,000 0 2,400,000
OB HEEEE AXMI=XHLAEH 2E(2X4E
=) (He) 2,400,000,000& 2,400,000
AMYX LA RHOZ XGMY 2HG 411,159 791,612 A 380,453
= 40,000
Al 371,159
AAMEEN L AFD|BE XM 411,159 791,612 A 380,453
= 40,000
Al 371,159
CAIEE & ALY 143,473 120,684 22,789
201 gBt2Ad| 1,000 4,720 N3,720




2N
X ZH -
L= B

el

= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 1,000 4,720 N3,720
O:-AMEHUY A& 1,000
O4I 100,000& * 3H 300
O=x(A) 350,000& = 204 700
301 et a s 1,168 1,168 0
09 &AL HI B A S 1,168 1,168 0
OXNA AT EE g EAX =44 1,168
o232 M= 8,000& = 229 « 23] 352
OCafEosl Mzl 8,000& = 17H =« 63l 816
307 21201 A 141,305 114,796 26,509
02 IS AMHEL 50,000 50,000 0
Ok &P A 12,000,000& * 23l 24,000
oRdEL=Xt diA=2s
1,000,000& =+ 26% * 13l 26,000
03 QIAHNHE2IHIEE 91,305 64,796 26,509
O ARIZAIR =S 29| 91,305,000& 91,305
SR 2 #A 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OLsXa & &AL 10,000,000& * 13l 10,000
CABOIS SeH S 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFSHALAIR B = 7,000 7,000 0
O AtetitE SEHiH S 7,000,000& = 13l 7,000
LS AEIOLE JOtE Hsa 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
O A0S JtE M=Us
30,000,000& * 13l 30,000
N A B E -5 XEAY 62,940 50,000 12,940
= 40,000
Al 22,940
307 21201 A 62,940 50,000 12,940
= 40,000
Al 22,940
02 IZtEHAIHE L 62,940 50,000 12,940
OXNS AT HEH3 At 55,940,000& 55,940
= 40,000
Al 15,940
O AE A&2ds AAS 7,000,000& 7,000
22 ENAE 2822 156,976 573,928 A 416,952




2 JIEXE D
M MMYE LADIE ZHOR Noagl B
el AMYHE CADIY E4 CERED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 132,472 445,000 N 312,528
05 QIZ2tRE 2 132,472 445,000 N 312,528
o=l NESE=SN2 2 132,472,000 132,472
401 AlEHIZL 2 0HY| 24 504 128,928 AN 104,424
01 Al& H| 24,344 128,064 A 103,720
OM3ZE A2 HIIZAH (222 A4Es=R2
) 4,800,000& = 23| 9,600
OEUHZ2ZANE2EX IS SHIMNZA
14,744,000 *~ 1002 14,744
03 AlE 20| 160 864 ANT04
o=t A= X2 SEIMAESA AL 20U
14,744,000 * 1.08% 160
AL A 2e 770 0 770
201 2Et24dy| 770 0 770
01 AP 22| d| 770 0 770
OXAALAIMNA BSANNDE 770
OZAZ(D1E2) 230,000 = 2H 460
OZAI2(=1}H) 120,000 = 2H 240
Osl =9 70,000 = 13 70
=13 185,900 230,037 N44 137
2HWEAS 185,900 230,037 N44 137
2Mns 43 185,900 230,037 N44 137
201 et 29,400 47,500 A 18,100
01 AR 22l ] 13,300 8,800 4,500
O=ZHNLNFANY =& 3,300
o9 = 50,000 = 100K = 33| 1,500
os49s 300,000& = 2% * 33| 1,800
O&%5 U Lutqel 2,800
Osl =9t HE 70,000& = 200H 1,400
Ozt 70,000& = 200 1,400
O=Z=¢HM AXE 600,000& * 12& 7,200
02 24| 16,100 38,700 A 22,600
OCHSHBI = Al XIAFE 2 3l HI (21 2 308H0] A)
12,500,000& 12,500
O=Z=dHLM 202, B2
300,000& * 12& 3,600
202 044l 60,000 94,137 AN34,137
03 =220 60,000 94,137 N34,137
OEZA 222 2YU2DE ALEA
60,000,000 60,000
203 & R =&t 11,000 6,000 5,000




AN ISR 0
M FMuF Lt
2 FHRIAS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH R =ZH| 11,000 6,000 5,000
O=HsS&, NI =& 11,000, 000& 11,000
301 et a =z 37,500 39,400 A 1,900
07 QBI=H I 32,000 34,000 A 2,000
O=HMuTEA 2wl =F 32,000,000 32,000
09 SALAHIEA S 5,500 5,400 100
02RO EN HWI 29 5,500
O=0s< HISAL &Hl XS
20,000& = 509 « 53] 5,000
O=0s3 HISAML 23
5,000& = 509 = 23] 500
307 glz2+ol & 43,000 43,000 0
02 HAFHAANFEE 43,000 43,000 0
OFFHAY REA HS23HHE
15,000,000& = 1JHEH A 15,000
OFFEHaY A Hst2sHHE
28,000,000& = 1IHEHA 28,000
406 JIEtA =01 & 5,000 0 5,000
01 JIEtA 20l A 5,000 0 5,000
OF3o4+M 24 AXBED
5,000,000& =« 13l 5,000
==J|8t =Y 600,673 587,009 13,664
=NsSa 2t 600,673 587,009 13,664
ZHSA SUHOIY HAXE 0HAE X&) 600,673 587,009 13,664
202 Odl 6,673 10,009 A 3,336
03 =220l 6,673 10,009 A 3,336
OolAAZIHE, 2t S 6,673
Ogs= 1,800,000& = 1H * 23] 3,600
O=¢gtdl 120,750& = 1% = 72 « 23| 1,691
OAlHI 56,350& * 1H * 8 » 23 902
Ogdl 29,9903 * 1H « 8Y » 23 480
307 gl2tol & 325,000 400,000 A75,000
02 It M AHE L 170,000 250,000 A 80,000
OGHAAZIMN=HE IA XN2AS (SEO0 S)
4,375,000 = 8IH Al 35,000
OdA=EHAIG EII X3 AL
5,000,000 = 7JH Al 35,000
OZAJY XEE HAAME W= XA
25,000,000& * 4JH At 100,000
05 RIZHRIE 3 155,000 150,000 5,000
OMASHAAMRA(REA) 22
155,000,000& * 1JH £ 155,000




AN ISR 0
HE: £50|8 sy
gel: NS 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 269,000 177,000 92,000
1037/ 2S0HUHeB&EEALS I 269,000 177,000 92,000
OXNIESHERAT2O 24 XA
10,000,000& * 1JHCHS 10,000
O+&£29EE XA ANY
2,000,000 * 15JH At 30,000
O AEES XA (1304 AH)
72,000,000& 72,000
OHA=2 I HE XJ AL
600,000 * 5000 At 30,000
O=Z71 cHAS Il X2 AL (15IHA})
40,000,000& 40,000
OZE= HEY M BlOIH =& 4¢3 XA
AF2E (3000 AL) 52,000,000& 52,000
OALOIH ==&E3 It X3 A
1,750,000 * 20JH At 35,000
HE2AZH (OIGXJA D) 63,794 58,710 5,084
Jl23dl 56,378 55,108 1,270
JlE2zl 56,378 55,108 1,270
201 et 20,288 20,288 0
01 At 22l 20,288 20,288 0
OJlegfsd 233l 500,000& = 169H 8,000
O=&HI(J1E&Hl)
8,000& = 16H * 8¥ » 12& 12,288
202 O4dl 30,720 30,720 0
01 = LH 4 Hi 30,720 30,720 0
O =L HI 20,000& = 16 * 8 * 123 30,720
203 YR =&t 3,600 3,600 0
04 FN2ELSZ=TH| 3,600 3,600 0
OJ|&ZHl (20210l ct) 300,000& = 12& 3,600
405 TtHabF S| 1,770 500 1,270
01 AL EFH S 1,770 500 1,270
OFMAIEDI 1,000,000& * 1CH 1,000
OCLHIIs= A 770,000 = 1CH 770
el 2 7,416 3,602 3,814
ol Al 7,416 3,602 3,814
101 @124 dl 7,416 3,602 3,814
02 JIEtE B == 7,416 3,602 3,814
OSHARNE 7,416
OAzZte =Y
10,299 = 29 * 30AI2+ ~ 128 7,416




2N

X{ XH -
S =

Jl e X2 ot
HRES(IIG XA D)

2 LHEHHX S ol HMS)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HEESS(JYX ) 6,500,000 7,600,000 , 100,000
WEAHA XK= 6,500,000 7,600,000 , 100,000
LHEHHX = 6,500,000 7,600,000 , 100,000
702 1282 6,500,000 7,600,000 , 100,000
MoIsdE2 6,500,000 7,600,000 , 100,000
sAJ|IgsdlI=2 852 6,500,000,000& 6,500,000




== A
N & 0o &8 A &2 F A
20198 &= =0la LBt/ IMEHLY ~ FESA
CONE
P MEXHE
DA SE LA (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
2,275,450 44,577
= 334,900
Al 1,940,550
ME X 2,159,386 60,111
= 334,900
Al 1,824,486
A SE LA 1,528,606 A 11,498
= 334,900
Al 1,193,706
HAEO Al 249,521 A1,104
201 Let24E] 108,128 A 28,032
01 At 22l 33,100 A 31,440
OXZAMN 222 MH 80& = 35,0000H 2,800
oK EIE ER+>E( 82 HME)
80& = 18,0004 = 123 17,280
0K EItE g2+ (ARS)
2003 * 4,750 = 123 11,400
OFIlz NEA HXtHE ME
1,000& = 150H =« 63l 900
OXNYAM 20, ZAH 224H 720
O&EHMZ 10,000 * 1204 120
(OF:PN R~ 50,000& = 124 600
02 23224l 75,028 3,408
OJ&aAHX dSMHEIA =2
80& = 56,0004 » 12& 53,760
ONAHXLER SMS ==&
173 = 7,500 « 12& 1,530
OSEANEERAMAIAE 2|
300,000& = 12& 3,600
OAMSEHRAIAE 72
1,800,000 * 43| 7,200
OQIIAAHEAAE RXE=HI
1,442 5002 * 43| 5,770
OXIZA ARSAIAE ME3IH 23 (PRI)
132,000 » 236 = 1204 & 3,168
207 A RO H| 49,500 29,500
02 & AR b 49,500 29,500
OXIZAl ARSAIAE! Jls HH
44,000,000& = 13l 44,000
OJIAMHE EEAMEIA Heled &0 JIsid
5,500,000& = 13l 5,500
301 L2 A= 2,000 0
12243 2,000 0
OXNYHM EH, ZAH S22 Al&Z2 2,000
Ozl2x4(29) 300,000& » 29H 600




M N

M WEXEH

Selr XA SELA (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O =+4(44) 200,000& * 44 800
OZcda(6Y) 100,000& * 6% 600
308 AHAIEHHSOIA 88,613 92,465 A 3,852
1037/ 2S0HUHeBHEAEALS HI 88,613 92,465 A 3,852
OXNLNEES ALY 88,613
OREXNHMEBEANAE 63,711,0008 * 13 63,711
OfISA(SERLA) 21,999,000& = 13l 21,999
OLtNI S & Al & E 2,903,000& = 13l 2,903
403 Mt S E X201 & 1,280 0 1,280
02 SO 2SO HSHAHE X 2| &AL H 1,280 0 1,280
ONESELSAIAH 1,280,000& * 13| 1,280
dAagNt 2 107,840 108, 340 A 500
201 ¢er24l 32,840 33,340 A 500
01 At 224l 2,600 3,100 A 500
OXNEAMN SAYMNES 4l 1,600& * 1,0000H 1,600
OXZAN daEAA ZAHTH M2
100,000& * 100K 1,000
02 2324l 30,240 30,240 0
OHAEAHNI BFANSEF=INE 0IER=
6,000& = 20CH = 21 = 12& 30,240
301 et d = 75,000 75,000 0
12 JIE24 =3 75,000 75,000 0
OMLtAl daEAX &43FH =2
50,000& = 1,500 75,000
MESSR A& 25,400 12,400 13,000
201 Let24] 23,400 10,400 13,000
01 At 2t 2l 23,400 10,400 13,000
OXLN HRE 2¢ 50,000& = 130&A 6,500
OXNYAH CHLHA HMZ(1T)
3,000& = 1,300 3,900
OX&A oH&ed P& 100,000& * 10& 1,000
OXNLNELEA &8ss 12,000,000& * 13 12,000
203 YR =2l 2,000 2,000 0
03 A MFAH S Z=AY| 2,000 2,000 0
OXNEAHNZE 2= 2,000,000& 2,000
NS FEHIFA T AL 726,020 752,797 N6, TT7
101 @124l 190,614 185,941 4,673
04 JI12ZtHZ22HEE =+ 190,614 185,941 4,673
OMEZE SHEA LAAAOI2
71,940% = 159% x 1602 172,656




CNE D
P MEXA

DA SE LA tel &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OMSIEEZE 17,958
OZ20UHAZRES 172,656,0002 * 4.5% 7,770
O=0HLEE 172,656,000& * 3.12% 5,387
OFIRLEEE 5,387,000& = 7.38% 398
CnEZEzRE3 172,656,000& * 1.5% 2,590
Ot ELEE S
172,656,000& * 1.05% 1,813
201 L2l 529,806 551,256 A 21,450
01 At 2t 2l 491,400 513,250 A 21,850
Cds+=+= 6,600& = 65,000= 429,000
O0ISAl SSFEIALE =8 3,050
Ot ++Z (OITHE) 50,000& * 40 2,000
Ou&Ex2(HY, CHAIO)
30,000& * 353 1,050
OMg=edId 2ZSXN2 M
1002 * 71,500 7,150
OMg =& SatH &4
10,0002 = 2,000& * 23| 40,000
OIMgE=eDtA dog ML HMH
20,000& * 100= 2,000
OMNEFEINFE EH 220,000& = 104 2,200
ONEFEHFIZ HIS(2HEY)
2,000,000& * 4+ & 8,000
02 B2 38,406 38,006 400
OMEFIIA ZHENS SWE
330& = 65,000A 21,450
OMNEFE 2| AAE Y SHOIX RAEx
4,239,000& = 43| 16,956
405 XHobF S HI 5,600 15,600 210,000
01 XL 2 S FH S| 5,600 15,600 A 10,000
O RHeHH S H| 5,600
OMNEFEINAMEE FRH
1,400,000& * 4CH 5,600
HEFEIASAI(Z 1) 334,900 332,200 2,700
= 334,900
101 1244 dl 313,540 309,640 3,900
= 313,540
4 D12t Z2XRHEES 313,540 309,640 3,900
OMEFY SHEA LAAHQIR
71,9403 = 369 » 110 284,883
= 284,883
OAzEE = 28,657,000& 28,657
= 28,657
201 Let24d| 10,560 10,560 0
= 10,560




2N
X ZH -
L= B

el

MIE
HE X
KYA SEaA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 10,560 10,560 0
OMEFLARER J|
8,000& = 10 » 11 » 123 10,560
= 10,560
202 O4dl 10,800 12,000 A 1,200
= 10,800
01 = LH 4 Hi 10,800 12,000 A1,200
OMNEFEII AT ALAE 048]
20,000& = 9 « 5& » 123 10,800
= 10,800
M ZA A Al 4,260 4,260 0
201 £B-2dH| 4,260 4,260 0
01 At 22l 4,260 4,260 0
OXNEHMSHAEZAL MA o4 4,8008 = 700 3,360
OXN&AN HAEAY ZAH M=
300,000& * 3Jf& @l 900
st=aXEAARE A 80,665 79,482 1,183
306 ¢ 2 80,665 79,482 1,183
01 &3 80,665 79,482 1,183
Ost=XLAMATRH =H  80,665,000& = 13 80,665
Nel=g 2tel 515,865 436,858 79,007
Nel+=g 88 29 2 2 960 600 360
201 L2l 960 600 360
01 At 22l 960 600 360
OM2=e AEINE HE22
100& = 8004 = 12& 960
Mel=2 HEgde & == 514,905 436,258 78,647
201 Let24E] 274,984 292,258 A1T,274
01 At 2t 2l 182,740 168,740 14,000
OM 2= DX A 4 (0CR)
66,000& » 702 A 4,620
OMA==2 W= A (0CR)
20,000& = 150& 3,000
ONEY S He=x=2 4,300,000& * 123 51,600
OHtZIl |X2eldl 20,0003 » 500H = 128 12,000
QNAAHH =5 400,000& = 12& 4,800
oM+ MEX tz BXNSE 58,520
Otz 8XFE AAE SA2 4
2,420,000 » 69H 14,520
Onla 8XgF AMAH o822
4403 * 100,000A 44,000




M N

M WEXEH

S Mel=g 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMEDXMN ¥ HUH=ZE 2 & =44
6& = 450,000A 29,700
OFESE M= 100& = 60,0000H 6,000
OHASIZH (AR M) =2
1,000& * 5004 500
oM=L EEA &3 1=
12,000,000& * 13 12,000
02 2324l 92,244 123,518 A31,274
oRERS 87,684
OBt 330& * 218,200 72,006
OsJl 2,100& * 7,000 14,700
OsJlets= 1,630& » 600 978
O XAALE RXE=H
330,000& = 12& 3,960
ONMEXE B HRE SER=S
50,000& = 12& 600
303 Z& 3 168,000 144,000 24,000
01 243 168,000 144,000 24,000
oKL+ RTBLW 238y
600,000& » 309H 18,000
OYYNBLRA BT 6.000
Q20164 Ol =2 60,000,000 * 5/100 3,000
Q20179 & &2 70,000,000& * 3/100 2,100
Q20189 & & 90,000,000& = 1/100 900
OANAUEEHAII NS RE E=E43 144,000
Q20164 Ol& =2 2,073,600,000& * 5/100 103,680
Q20179 & & 720,000,000& = 3/100 21,600
Q20188 & & 1,872,000,000& * 1/100 18,720
308 MtXIEHMSOIH 34,498 34,498
1037/ 2S0HUHeSEH4EAE ALS I 34,498 34,498
OERZE XNEAMA+=Y F2ALE 29
34,498,000& * 13/ 34,498
403 A X EHHS =0l A 37,423 37,423
02 SO 2SO0ICHEH A2 X 2 A I 37,423 37,423
OXMO XM= FE2ALY 25
37,423,000& * 12/ 37,423
K& AE 114,915 122,313 AT7,398
DM DENEN HEd=2 & = 114,915 122,313 AT7,398
201 et 22,115 21,513 602
01 At 221l 17,135 16,173 962
OYsESH Bl==2
600,000& = 1624 = 25% 2,400




M N

M WEXEH

ol XIYNE S (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXEFZBANLAE MHIA OlEZ
550,000& = 12& 6,600
OAEZHEBAAE SMSHEIA OlEZ
4432 * 138,000A 6,072
OMEX W23x3 === (HIAX)
2,000& = 500A 1,000
OXL HILE == (KNLME2AAEH)
50 * 1,250 = 170 1,063
02 =224l 4,980 5,340 A 360
OHSE FXANAE 298 RAE=H
415,000& = 123 4,980
303 L& 3 92,800 100,800 A 8,000
01 243 92,800 100,800 A 8,000
OYNZRA FHELAZ 9.000
O2016d Ol& =2 90,000,000& = 5/100 4,500
Q20179 & & 110,000,000& = 3/100 3,300
Q20188 & & 120,000,000& * 1/100 1,200
OAMZIEEHAIH HEZAS 83,800
Z2EXHENA 665,000,000& = 10/100 66,500
Q20169 & 01 = 316,000,000 * 5/100 15,800
Q20178 &= 50,000,000& = 3/100 1,500
HY2FZH (MED) 116,064 131,598 A 15,534
el 2l 26,300 26,300 0
ol Al 26,300 26,300 0
101 1244 dl 26,300 26,300 0
02 JIEt& B == 26,300 26,300 0
OAZHERBINH 2= 26,300
OxnR24Y
8, 117& + 9F = 30AI2t « 128 26,300
Jl=3l 89,764 105,298 A 15,534
Jl2&l 89,764 105,298 AN 15,534
201 et 31,204 32,318 AT1,114
01 At 2t 2l 31,204 32,318 A1,114
OJlegfs=da sl 500,000& = 289H 14,000
OJI=AHdl (S&Hl)
8,000 » 28F = 8L « 12& » 80% 17,204
202 04l 53,760 64,380 A 10,620
01 = LH o4 1l 53,760 64,380 A 10,620
OJIEZ 20,0003 = 289 = 8 » 12& 53,760
203 R =&t 4,800 4,800 0
04 RN2ELRZTH| 4,800 4,800 0




2 MED
M HE2IZH (ME )

el JI=23Hl

SA-3H-S(3AH) - MRAS - BES Off &t 24

©2J1&EZ 8 (302 0lat) 400,000& = 12& 4,800

=

i
2m




= o
A & 0l & AF 2 E A A
20198 &= =0la LBt/ IMEHLY ~ FESA
A 3E2SA
Hm: 210 M= F Do -BE 7
Sl HEAX A U MEYE HBo CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2SS4 6,125,267 6,198,786 AT73,519
=2 562
= 23,994
Al 6,100,711
21C 8= x99 - FE 6,050,967 6,128,714 NTT,T47
=2 562
< 23,994
Al 6,026,411
FEAX ola & A= FEE0H 458,029 440,529 17,500
dEstus 22 189,800 189,800 0
201 2er2 Y| 177,800 177,800 0
01 At 22l 171,200 171,200 0
OF=2usdH 29 38,160
OFESUEFE A2 FH| 14,160
- et 100,000& = 69 « 12 7,200
-EY 220,000& = 9CH = 20K 3,960
-—HEZAEH #HE 750,000& = 40 A& 3,000
Otz 24,000
-SSR Us4H 2,000,000& = 12& 24,000
OF=Estusul 2 10,000& * 2,000 20,000
OZEWEY RAH| 220,000 * 123 2,640
Oge AR FESuE LA+
80,000& = 8% = 160 102,400
OZ22d ZFEuUE AAM==E
80,000& = 2% = 50¢ 8,000
02 2324l 6,600 6,600 0
OFEBusdH HIIR=s
550,000 * 1A * 128 6,600
307 21201 A 12,000 12,000 0
05 RIZt2IEt = 12,000 12,000 0
OZEuIsE FALUAY
1,000,000& * 12& 12,000
HPPHOAAY 2R 268,229 250,729 17,500
201 L2l 203,729 192,729 11,000
01 At 22l 15,800 4,800 11,000
OMABELESNE LA=E
80,000& = 52 « 33 1,200
OMEEES WS WHl 1,200& » 3,000% 3,600
OSg=2etUSBZelAlAE =10 O0AME 2
OH 11,000,000& * 1= 11,000
02 =24l 187,929 187,929 0
OMAZEEESAIAE d0H0I=(1E 2toldA
) 28,6003 * 1,500% 42,900




2SN
C®E2 HDo -BF 78
BAR oL L NEBE BB

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
OSSOt X 22l AIAE O 0IE(1E etoldA
) 28,4903 » 1,500% 42,735
OS2 etUSB el AlAE | X E==Hl
742,500 = 123 8,910
OAPCH H = XI 2 ==l 92,000& = 12& 1,104
OUPCXIZI0l €OdlolES (14 2toledA)
22,6002 * 500X 11,300
OMUBERE HHAMAEE
20,000,000& * 13l 20,000
ONHE HoldA8A 2 01E RAHI(1E
chol e &) 352,000& * 60X 21,120
OPCE HioldAAl A0S (1E 2toldA)
26,000& * 1,500% 39,000
OBorelE2H oIS (1 2told )
860,000& * 1= 860
405 TtHabF S 64,500 58,000 6,500
01 et EFFHSHI 64,500 58,000 6,500
Osg2 &l AlAE™ 34,000,000& 34,000
OAMT A SS3HECHEHI 4,500,000& =« 3CH 13,500
ORUUIALZIE =2t
1,700,000 * 10CH 17,000
Jtsgt 1E2d F2EMHA HMSB 2,377,351 1,888,819 488,532
= 562
2,376,789
SHLYR LEI2I 179,988 163,440 16,548
201 Yer2 | 178,988 162,440 16,548
01 At 22l 178,988 162,440 16,548
OSH=EHNI2ES /8 8 S/W 2LHI(BE 27
42) 150,000, 000& 150,000
OZ2H 29 JIXMM 7¢
308,000 = 54 « 204 3,080
ORQUUALZI| LS MHIA HUHE ME
20,000&  100& 2,000
OZglH 28 JIXAM 2L 2,700
Oget T2l &Y 220,000& = 504 1,100
OX&s Ty &4 220,000& * 504 1,100
OZdzZelyd ¢43 50,000& = 104 500
OZcdZglH 28 I 7€ 4,660
ocd 500,000& * 1K 500
O&H 660,000& = 14 660
OEHEHZME 1,300,000& * 1Set 1,300
ORMRY(2E) 1,200,000& * 1K 1,200
OEHAHIAE(2E) 1,000,000& * 14 1,000
O2ctREE AE 08 157,000& * 60K 9,420
O2ctREE MS-0ffice 118,800& * 60H 7,128




fA:E
X ZH -
L= B
el

2SN
H=2 FDo -HE P
X&otse DEA IS HHA MB

CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
203 YR =&l 1,000 1,000 0
03 Al F=XH R =AH| 1,000 1,000 0

OFEMNHIA 243 R2=2 1,000, 000& 1,000
HEZEANAE 29 L w22 1,207,808 1,151,074 56,734
201 L2l 1,009,808 994,534 15,274
01 At 22l 20,000 29,000 A 9,000
orcg g olE 100,000& * 100CH 10,000
OAMEEE PCLISEDI &
100,000& * 100CH 10,000
02 =24l 989,808 965,534 24,274
OHEAMAIAE FXE 2| 853,202
OAM B (35CH) 15,273,000& » 12& 183,276
OMZEZEXI(1400) 8,030,000& = 12& 96,360
OJIEFZHI (KVMN/W, 2 O |, 28 &t 19TH)
5,111,000& » 12& 61,332
Oog28571(40) 415,000& = 12& 4,980
ORHFMEAZXI (4TH) 869,000& » 12& 10,428
O2EZZ N (H4E) 17,152,000& * 12& 205,824
OuSYr AB2ACIAIAEH
6,150,000& = 12& 73,800
OYPNAEL (2 ACE)
10,750,000 * 12& 129,000
OtteE S 2e| Al AE 1,775,000& * 128 21,300
OQAEX Se2ClAAE
1,201,330& * 1228 14,416
O&EFAl HA&H 645,000& = 12& 7,740
OS/We M 2 571,000& = 12& 6,852
OUHEHIISHEAAE 444,000& = 12& 5,328
OL&X EEAAE FA&2
1,170,000& * 128 14,040
OITAHAE2E 2l Al A E 773,000 * 123 9,276
OHX X3 A AE 237,500& « 12& 2,850
LASEEANAEY 533,330& = 12& 6,400
OstiE= =0 8AMH A 550,000& 550
OMel g8 FEH(1,7610H)  9,500,000& » 128 114,000
OdIoI M EelH 1,838,000& * 1228 22,056
308 XX EHH SOl A 162,000 156,540 5,460
10 OIS THEHE AR e AL H 162,000 156,540 5,460
O3sJIer datFH =X 22l
109,489,000& * 13/ 109,489
OME MHAOAZ3 |X22ltl
6,460,000& = 13l 6,460




A 3E2SA
Hm: 210 M= F Do -BE 7
Sl NHIHsE DEA FBHUA WS EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3sJIEt M=+ =X 22l
15,794,000& * 13l 15,794
O=2LIetAlAE S/W KX 22l
30,257,000& * 13l 30,257
403 UHXSHHSA=0l& 36,000 0 36,000
02 S 2S0CHet A = H 2 & Ar 36,000 0 36,000
ONH FUASSHBALY 25
36,000,000& * 13l 36,000
AMNZREEs SSIIEE AIAE 2= 1,292 5,113 A 3,821
=2 562
Al 730
201 £B-2%| 1,292 5,113 A 3,821
= 562
Al 730
01 At 22l 1,292 5,113 A 3,821
OLZ&Yl WA & F22o2AIY 2lA2(1
83l & 14-173 &) 1,291,620& * 13/ 1,292
2 562
Al 730
HEMAZEH SHEAGFA 988,263 569, 192 419,071
405 XtatE SHI 988,263 556,000 432,263
01 XML = ZH SHI 988,263 556,000 432,263
ORoINALZI PY(MR)
25,000,000& = 204 50,000
Osgdits 222l 432,263
ogzgsll wH 27,782,000& = 104 27,782
OUPS WAl (14)) 34,181,000& 34,181
ONH (B2HRESE) 355,300, 000& 355,300
OoIl1Aa3 15,000, 000& 15,000
OYFE HMLEH A 506,000
Ol sz =H 1,400,000& * 300CH 420,000
oZgd 600,000& = 110CH 66,000
OZLUH 400,000 = 50CH 20,000
A0LE AR =& T Al AHIA F2E 420,000 1,020,000 A600,000
MAEZ AL EAY 20,000 20,000 0
308 XtXIEHH SOl A 20,000 20,000 0
10 I 2 SOICHetE & X 2 E AL I 20,000 20,000 0
OdAdEZolad ALY X2 (0l ch & Xt = XHR&D,
us) 10,000,000& * 13l 10,000
OUAHBOALLALXNIA(ANESE2I L
A, U3) 10,000,000& * 13l 10,000
SEESZEHNLYUH2 Y 400,000 1,000,000 A 600,000
308 XXM SO A 400,000 900,000 A 500,000




2N e

HE: 210

chelr ADE

2 219 -¥F 78
ARl E& SA HHIA RE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
10 3J/2S0HUHeB&EEALS I 400,000 900,000 A 500,000
OZE=2=22HJHH ZAXJA (A X2 A
g, Us) 400,000,000& = 13l 400,000
MBI AS6t=E EHO0IXN 29 468,900 588, 149 A 119,249
EFA QIHUAAE HEM 2H 468,900 588, 149 A 119,249
201 Let249] 468,000 455,249 12,751
01 At 22/l 52,850 3,960 48,890
OHALZTEY N ctold A S4& (Netvault)
14,850,000& * 1= 14,850
OUE EHOIX AH diRel &4
19,000,000& =+ 2= 38,000
02 =224l 415,150 451,289 A 36,139
OQoHY T mel2el SXdl 42,0008 » 353 1,470
OAMMIA(ZUE) U5 AES(HIAMY)
550,000& * 13 550
OAMMIA(ZTUE) 25 AAEZ(AUE)
1,800,000& * 13 1,800
OAMMIA(MEE Y HH) A5 MESZ
1,100,000& * 13 1,100
OgI2t0L0lE 201015 MEZ
550,000& * 13 550
O2XHAIXAEIA OI2Z
100,000& » 54 « 12& 6,000
OAl EHOIX & |XAE=H 188,940
OUE SHOX & 128
5,070,000& * 123 60,840
OMIASHOIX & 168
5,860,000& = 12& 70,320
OmZel2MOolIX 258  4,815,000& = 128 57,780
OZHOIX 28 AZENH XL =HI 90,396
OUE EHOIX 2% A2ZELI0{(DBMS, Webt
0B, Jeus) 2,449,000& = 12& 29,388
OZMHOIX Jtatst 28 2ZEAN
867,000& * 123 10,404
OZHOoIX 2 24 255,000& = 123 3,060
OEbook 2& &4 167,000& * 12& 2,004
OMdH EotZ=2 0 90,000& = 123 1,080
OEHOIX s 2UHZ 2ZEQAN
130,000& » 12& 1,560
OANHIA F2t8 5 ZLULIHE AZEHO
369,000& = 123 4,428
OZHOIX gz AZEA(2T)
490,000& = 123 5,880
OZHOoIX SAHEA 363,000& = 12& 4,356
OZHO0IXl DB ==t 184,000& » 12&8 2,208




A 3E2SA
M 21 = Lo - ¥
Chel: A2 ASdl= SHOIX 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ogZd 203,000& = 12& 2,436
OSEEAANAE 29 LATEYAH(2T)
793,000& = 12& 9,516
OBZHUHAAE 28 ATEN(2T)
825,000& » 12& 9,900
OZHOIX =HUHIIAIAE
348,000& = 12& 4,176
OAIZEHOIX StEAN 28 |RAE=H 124,344
OEHOIX MBlAZ 22l A (120H)
2,865,000& = 12& 34,380
OEotHHE 2tel M (50H)
558,000& = 12& 6,696
OMEZEXI(64) 2,382,000& * 12& 28,584
OUWESZ &HI(11tH) 1,597,000& * 12& 19,164
ogstye S Zor&yg|(12Lh)
2,649,000& ~ 123 31,788
OHIOI = S &Y (20H) 311,000& = 12& 3,732
301 PP B A 900 900 0
12 JIEBHE4 3 900 900 0
OZHOIX AYENH Al&S 900
OE2XIAM OIME HEL 24
0,000& = 309H 900
HHEA HBEA MHA BF A2 2,280,789 1,768,217 512,572
< 23,994
Al 2,256,795
B SHAAE HEA 2HA 1,837,225 1,687,877 149,348
201 L2l 1,639,125 1,637,337 1,788
01 At 22l 35,000 21,300 13,700
OdZF M3 B R KA 12,200
OMNUESF RN T
2,000& = 2,00000 = 23] 8,000
ORNEHEHIHSE
700& = 3,00001 = 23l 4,200
Osddz FANESE 2235 7Y 16,000
OUTP 201 100,000& * 5082f A 5,000
@)= 100,000& *» 30 A 3,000
OdB(4XZE) 100,000& * 404 4,000
OslE(BEE) 200,000& = 2004 4,000
OHENMS ,FAX 2222 H| 6,800
OEU3ItECIX 220,000& = 504 1,100
OZ=2H JtEcX 300,000& * 54 1,500
OE2H X 120,000& = 108 1,200
O& &3] 30,000& = 1004 3,000
02 2324l 1,604,125 1,616,037 A 11,912




2N BESAD
Hm: 210 M2 DO -BF 7
Col HEZA HBEM AMUIA BF N

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
O=IIFESHY 253 HotAlAE S22
=l 2,659,607& « 12& 31,916
O<Ig2elANAE SX2elbl
2,310,182& ~ 12& 27,723
OFLLXIAIAE(IPS) X2l
1,381,000& * 12&8 16,572
OXYUXEAIAE KX 22/ (28)
1,713,333& * 128 20,560
OIPXRHEAZEIAIAE S22l
367,194& « 128 4,407
OS2t 2O 2l AIAE(ESM) S Xl 2teld]
1,406,920 * 12&8 16,884
OSRHAIOIEXSHAIAE S22t
485,733& « 123 5,829
O=g F2SHY 2ot ZHAIAE FX el
549,047& « 123 6,589
OFAXE Eot&EHl R Xl 30,250& « 12& 363
OFESH UWERZA EH KRAE=Hl 234,408
OMEA2X(80) 6,079,000& = 12& 72,948
2ot AALIX(28)  3,520,0008 * 12& 42,240
OL3A I XI(320H) 1,523,000& * 12& 18,276
OL2A 2 Xl (2520H) 8,412,000& = 12& 100,944
OQCHUWHESWEAAE RX2 57,624
O WEAIAE 1,339,000 * 12 16,068
O IPEZDI(1,16404)
2,561,000& = 12& 30,732
Ot |pPet | (6320H) 902,000& = 12& 10,824
O HZAANAE KX E 4
847,000& » 123 10,164
ORTITMAZ = EX(2H) R NE=H|
226,000& = 123 2,712
ogagsll(2i) SXE =l
190,000& » 12& 2,280
OLINEZAEANLAE SAE 4
182,960& » 12&8 2,196
O AAAE RSXE 24l
469,920& « 12& 5,640
O =FHAAE RXE 24
139,330&  12E8 1,672
oA RRE I 47,7803 = 102CH 4,874
Od3R= 236,448
OQHY HF A} 12,000,000& * 12& 144,000
OBt (2l 4)
30,000& = 703l » 12& 25,200

T E Jd4HS(UHES)
33,000 = 5534 » 12& 21,780




234
C &= x99 -3 &
54 FBS4A AHHlA &3 M3 el E )
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OMHEMaiE Addst
17,000& + 173l » 128 3,468
O33gfXN2 0lsdst
100,000& = 5CH » 123 6,000
O UHAMHIA Sl 82
3,000,000& * 12& 36,000
O&dE3lH AEZ 915,264
(OEF FSE=2-1R] 272,880
-&3a 27,0003 * 3203/ & * 12& 103,680
-A=C0XE 470,000& * 30=2l& » 12& 169,200
O=NEESHSEY 552,000
-200M 1,500,000& = 53/ = 12& 90,000
-30M 700,000 = 323l& = 128 268,800
—-4M 300,000 = 233 » 12& 82,800
-2M 200,000& 463l » 123 110,400
OBOAEdEE3lH  466,000& » 23/ » 123 11,184
OZHtLHE N3t
2,200& = 3,0003) & » 12& 79,200
401 Al BIZ 201 8] 50,540 50,540 0
01 A& HI 50,000 50,000 0
OAMS4 THHIXIN E FUHSAMLAZIAM(2H
AR ) 5,000,000& * 100 2 50,000
03 A& =2 I 540 540 0
OFUSLEZISA 50,000,000& * 1.08% 540
405 XHobF S HI 147,560 0 147,560
01 XML 2 S FH S| 147,560 0 147,560
OTAJ| D] 600,000& = 10CH 6,000
og=2gsI(F2844) 20,000,000& * 104 20,000
OFEESH == UERI ZHl A 121,560
OL2A 2 Xl (48Z£ E ,poe) 4,260,0002 » 18CH 76,680
OL2ARIXI (24X E ,poe) 2,244,000& = 20CH 44,880
Helgt 3284 olmet =4 30,324 60,540 A 30,216
AMEHIZ 2 30,324 60,540 230,216
01 A& HI 30,000 60,000 A 30,000
OCISO0IEEAE 3200l A=A
30,000,000& * 1JH2A 30,000
03 Al 20 HI 324 540 A216
©332A0/It0l 2= At
30,000,000& * 1.08% 324
HA Z2A0ITOl &1 REAY 103,380 19,800 83,580
< 23,994
Al 79,386
201 £B-2dH| 103,380 19,800 83,580




A 3E2SA
M 21 = Lo - ¥
Sl WHEH FBSH MHA Y M3 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 23,994
Al 79,386
02 23224l 103,380 19,800 83,580
OHA Z2320II0I & 2SALE 103,380
O1xt(20184) 292
25,000& = 11004 ~ 123 33,000
< 9,900
Al 23,100
O2xH(20194) 2= 30,000& * 261CH » 62 46,980
< 14,094
Al 32,886
O2xt(2019¢) 2= (XHAl)
60,000& = 6501 » 6& 23,400
Or=gsAIAE X XA 309,860 0 309,860
402 BI2FX=201 M 309,860 0 309,860
01 2I2EH 2 A B (KR ) 309,860 0 309,860
Oag T DiSYsAAY AX XA (5H0H2)
87,300,000& 87,300
ONZ T DISYsAIAY X XA (2H012)
44,890,000 44,890
OEY T DiSYsAAY X XA (4H0t2)
85,130,000 85,130
OFAT OISLSAIAE HX XA BGIHOEE)
92,540,000 92,540
SHA MHlA DMOEE AH 45,898 423,000 A 377,102
S YR FA 31,300 11,500 19,800
201 Let24d] 9,300 8,300 1,000
01 At 2teltl 7,300 6,300 1,000
OANEEBA S=ZFH =2
1,500,000& * 2% 3,000
oOsKuA 2= ME 4,300
oAk 300& * 105 * 5002 1,500
ogsd 1,400& = 28 = 1,000% 2,800
02 =224l 2,000 2,000 0
OMEXZ A EFZEHl KA 2,000,000& 2,000
405 TtHabF S| 22,000 3,200 18,800
01 et EFSFHSHI 22,000 3,200 18,800
OZESLIAMN AAEXSIA EFT=ZEH WA 22,000
OFUte =&F2| 22,000,000& = 14 22,000
POHHEIN(ER) HYZR 2E 14,598 411,500 A 396,902
201 L4l 14,598 9,000 5,598
01 At 22l 6,600 6,600 0




=

i
2m

OEE 2237 (HEel )

3,000,00024 * 174 3,000
OCEERN2XZEI=1S 3,600,0008 *» 19 3,600
02 BB249H| 7,998 ,400 5,598
OEcEEg MULDH 800,000 * 3CH 2,400
OCES2dA HEIYAAH HEHEI X
Hl 629,00094 * 62 3,774
OEEZ AMAY RIH(E230, HEPRE)
152,000 * 129 1,824
HHLSABH(FESA D) 74,300 ,072 4,228
2 74,300 ,072 4,228
=244 74,300 ,072 4,228
201 LBt A H| 31,700 , 164 2,536
01 AR 22| | 31,700 ,164 2,536
OJl2geL+dE =AY (JI=AH|)
500,000 * 259 12,500
OZ2HI(J1=&Hdl)
8,000% * 259 x 82 x 12%& 19,200
202 O4H| 38,400 ,708 1,692
01 204l 38,400 ,708 1,692
O=2UoblI(I1=Z4l)
20,0008 * 259 » 82 * 122 * 80% 38,400
203 YR E=XH| 4,200 4,200 0
04 BN2ILSZ=TH| 4,200 4,200 0
©JI=AHI (252! 0I5t) 350,000 * 129 4,200




